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Second Semester:2015-2016
Subject: Computer Science (1)
Course code: ‘:‘g

Time: 120 Minutes

Mansoura University
Faculty of Science

Math. Dept.

Final Exam, May 28, 2016 -
Full mark: 60 marks

First Level: Chemistry, Biochemistry, Zoology-Chemistry, Microbiology, Geology
-Botany-Chemistry programs

Answer the following questions

. First Question: [15 Marks]
-a) Define the computer network and discuss the main components of this

- network. [S Marks]
b) Write the basic functions for the following:
1) Motherboard 2) Operating system 3)ALU
! : [S Marks]
¢) List the five basic steps to solve problem in computer and draw a
flowchart to input two numbers and print the smallest. | [S Marks]

Second Question: [15 Marks]
~a) Name five types of data that a computer can process and show the steps

are needed to convert audio data to bit patterns. [S Marks]
b) Compare between ASCII and UniCode. [S Marks]
c) Show the Octal equivalent of x2A4E. [S Marks]

Third Question: [16 Marks]
(a)Store +124 in a 16-bit memory location using one's complement
representation. Then interpret the result in a decimal using two's

complement. [8 Marks]
(b)Show the representation of -71.3125 using single-precision format.
[8 Marks]

Fourth Question: [14 Marks]
(a)Write a program to compute the sum and count of positive and
negative numbers from list -4, 7, 9, 23, -11, 6 -90, -17, -29, 14, 38, -89,

52, -65, 76,53, -49, 68, 90, -70. ‘ [6 Marks]
(b) Rewrite the program in flgurc (1) using if...... Go to. And write the
output for the program in figure (2). [8 Marks]
Read n
F=1:5=0
For i=1 to n step 2
Input n Read x
=1 S=S+x
Fori=1 ton F=F*x
F=F*i ‘ Next i
Next i Print "sum="3 S
Print "Factorial n =", F Print "fact="", I
End Data 10,1,2,3,4,5,6,7,8,9,10
Figure (1) Figure (2)

Examiners: Dr. Yasser Fouda, Dr. AbdulFatah Moustafa, and Dr. Mohammed Abdel-Atheem
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